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 You can find the total area of two rectangles by two methods. 
Method 1: Find the area of each rectangle. Then find the sum of the areas. [image: Image shows 2 rectangles. The length of the sides of first rectangle is 4 and 3. The length of the sides of second rectangle is 4 and 5.]


Method 2: Combine the two rectangles into one large rectangle. Find its length. Find its width. Then find its area. 
[image: detail via long description]

The total area of two rectangles can be represented by the following two expressions:    Since both expressions have the same value, so they are equivalent.    . This equation is an example of the Distributive Property.
Distributive Property
To multiply a sum or difference, multiply each number within the parentheses by the number outside the parentheses. 
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